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R1=8.50m (B/)\EHEHE) R1=4.80m (B/)\DHE41Z) R1=8.50m (B/)\DHEHE)
R2=8.66m (R &imEIER#E) R2=4.96m (R &imolEnE) R2=8.66m (A& OIEa414%)
R3=9.28m (EAE¥R+4%) R3=5.73m (E{ALER+1R) R3=9.39m (BE{AEERH1E)
R4=9.70m (J—LScimElEn4%) R4=6.26m (J—LSCikOIE¥1%) R4=8.01m (J—LScimEEne%)
R5=5.85m (EFAAIEEFE) R5=2.50m (EFEARRIEERFRE) R5=5.85m (EAMRIEERER)
A=3.39m (ALI&E1E) A1=2.73m (&8 A DEIE) A1=3.09m (8 \CHEEE)
B=3.39m (SE#HCERIE) A2=3.50m (B4 A CIEFIE) A2=3.82m (B ACTEHE)
C=4.00m (SBFHCIETEE) B=2.73m (B#HHIEH1E) C=3.82m (SfFLCLEEE)
D=4.37m (J—L5et#H B IR) C=3.50m (it B 1E) D=3.68m (J—LJeii 1818
D=4.07m (J—LASkiktHOBSEE)
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(S R1=8.50m (B/)\BFEHE) L R1=4.80m (/)\EIE41E) S R1=8.50m (/)\BEEE)
A R2=8.66m (RAVHHE,E) Al R2=4.96m (BSVHiHEE1E) Al R2=8.66m (RAVHHEIE1E)
R3=9.28m (EHEFEHE) Ao R3=5.73m (SHEIEHE) A2 R3=9.39m (EHEEHE)
R4=9.70m (J—LSEiREIEZ) RA=6.26m (J— L SEttEimZ) R4=8.01m (J— LSt EHmLE)
R5=5.85m (EH#MAIEEEE) R5=2.50m (2 FMAIEEE) R5=5.85m (EHMAIEHEEE)
A=4.30m (ACBEIE) A1=2.88m (B#MmAEENIE) A1=3.96m (E#HAIBES1E)
B=4.30m (EB#iH B 1E) A2=3.89m (B IEEIE) A2=4.69m (BN CIBEIE)
C=4.92m (BB E) B=2.88m (BB IE) C=4.69m (BB IE)
D=5.35m (J— LSt @ea1E) C=3.89m (S{AHOEEE) D=4.56m (J— L5t EesiE)
D=4.49m (J— L4t C@ea1E)
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R1=8.50m (B/\B#:+4%) R1=4.80m (B/)\ElE4%) R1=8.50m (B/N\DHEAE)
R2=8.66m (B HIHEIIEE) R2=4.96m (RHHRiKCIIELE) R2=8.66m (B HiHEIEHE)
R3=9.28m (EHFEHEH1E) R3=5.73m (EHFEGHE) R3=0.39m (EFE#EH1E)
R4=9.70m (J— LSeiR EHRR) R4=6.26mM (J— LSk EIRE) R4=8.01m (J—LSeiREHRE)
R5=5.85m (EAAAIEERFE) R5=2.50m (EHRNRIEEREE) R5=5.85m (B{FAMAIClER4-1%)
A=5.51m (AR A1=3.49m (E28 A iERE1E) A1=5.14m (58 A 5B 1)
B=5.51m (BB E) A2=4.41m (BN CIEEIE) A2=5.87m (B4 A 5B IR)
C=6.13m (BB E) B=3.49m (E=&itt iEFs1E) C=5.87m (S{FHIIEEE)
D=6.50m (J—LJgith CE@esiE) C=4.41m (BHAHOEEIE) D=5.72m (J— LSt @esie)
D=4.95m (J— L Jeit C@ea1E)




